

1. If  $y = e^{x^2+x}$ , show that  $y'' = y'(2x+1) + 2y$  and hence prove that  $y^{(n+2)} = (2x+1)y^{(n+1)} + 2y^{(n)}$ .

$$y = e^{x^2+x} \quad \text{--- (1)}$$

Using chain rule let  $u = x^2 + x \therefore y = e^u$

$$\frac{dy}{dx} = \frac{dy}{du} \times \frac{du}{dx}$$

$$\frac{du}{dx} = 2x+1$$

$$\frac{dy}{du} = e^u$$

$$\frac{dy}{dx} = (2x+1)e^{x^2+x} = y'$$

To find  $y''$  we use product rule  
 $y' = (2x+1) \times (e^{x^2+x}) = U \times V$

$$y' = UV$$

$$y'' = U \frac{dV}{dx} + V \frac{dU}{dx}$$

$$dU = 2$$

$$dV = (2x+1)e^{x^2+x}$$

$$y'' = (2x+1)(2x+1)e^{x^2+x} + (e^{x^2+x}) \cdot 2$$

$$\text{Recall } (2x+1)e^{x^2+x} = y'$$

$$y'' = (2x+1)y' + 2y \quad \text{--- (1.1)}$$

Applying Leibniz's

$$y^n = u^n v^0 + n u^{n-1} v^1 + 0$$

$$y^n = y^{n+1} (2x+1) + n y^n (2) + 0$$

$$y^n = (2x+1) y^{n+1} + 2n y^n$$

$$\text{Let } u = 2x \quad v = 2$$

$$\frac{n(n-1)(n-2) \cdot 6^{n-3} \cdot 470}{3!} = 6 + 0$$

sehen  $n=5$

$$b) x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$x^2 y'' + x y' + y = 0$$

$$\begin{matrix} \downarrow & \downarrow & \downarrow \\ w^1 & w^2 & w^3 \end{matrix}$$

$$w^1 = x^2 y''$$

$$v = x^2 \quad v' = 2x \quad v'' = 2 \quad v''' = 0$$

$$u = y'' \quad u' = y''' \quad u'' = y^{(4)} \quad u''' = y^{(5)}$$

$$u^n = y^{n+2}$$

Using Leibnitz

$$w_1 = (n v)^0 + n(n-1) v^2 + 0$$

$$= \frac{(n+2)}{2!} x^2 + n y^{n+1} 2!$$

$$w_1 = y^{n+2} x^2 + n y^{n+1} (2x) + \frac{n(n-1) y^n (2)}{2!} + 0$$

$$w_1 = 2x^2 y^{n+2} + 2n x y^{n+1} + n^2 y^n$$

$$\text{let } w^2 = x y'$$

$$v^1 = 1 \quad u^1 = y'' \quad v^n = y^{n+1}$$

$$v^2 = 0 \quad u^2 = y''' \quad u^{n-1} = y^{n+1-1} = y^n$$

$$u^{n-2} = y^{n+1-2} = y^{n-1}$$

$$w_2 = u^n v + n u^{n-1} v' + 0$$

$$= y^{n+1} x + n y^n (1)$$

$$= x y^{n+1} + n y^n$$

$$w^3 = y$$

$$w^3 = u^n v + 0$$

$$= y^n$$

$$w^1 + w^2 + w^3$$

$$2x^2 y^{n+2} + 2n x y^{n+1} + x y^{n+1} + (n^2 - n) y^n + n y^n + y^n = 0$$

$$\therefore 2x^2 y^{n+2} + (2n+1) x y^{n+1} + (n^2+1) y^n = 0$$